
SAP ABAP table JBRRPSENIN {RM: Calculation of Sensitivites/NPV}

JBRRPSENIN

MANDT [CLNT (3)]

SICHTID [CHAR (3)]

WAEHRUNG [CUKY (5)]

AUSWERTUNG [CHAR (4)]

SZENARIO [CHAR (10)]

SZKARTX [NUMC (4)]

WWAERX [CUKY (5)]

PHKN [CHAR (6)]

FWAERX [CUKY (5)]

TWAERX [CUKY (5)]

VOLAX [CHAR (3)]

BPID [CHAR (12)]

HIERARCHID [CHAR (3)]

UNIT [UNIT (3)]

ATVO1

MANDT [CLNT (3)]

VOLART [CHAR (3)]

 JBRRPSENIN-VOLAX = ATVO1-VOLART 

0..N

1

JBD14

MANDT [CLNT (3)]

SZKART [NUMC (4)]

WWAER [CUKY (5)]

 JBRRPSENIN-SZKARTX = JBD14-SZKART 
0..N

1

JBRBP

MANDT [CLNT (3)]

SICHTID [CHAR (3)]

BPID [CHAR (12)]

 JBRRPSENIN-BPID = JBRBP-BPID 
0..N

1

JBREVAL

MANDT [CLNT (3)]

AUSWERTUNG [CHAR (4)]

 JBRRPSENIN-AUSWERTUNG = JBREVAL-AUSWERTUNG 
0..N

1

JBRSHBAUM

MANDT [CLNT (3)]

SICHTID [CHAR (3)]

HIERARCHID [CHAR (3)]

KNOTENID [CHAR (6)]

 JBRRPSENIN-PHKN = JBRSHBAUM-KNOTENID 
0..N

1

JBRSI

MANDT [CLNT (3)]

SICHTID [CHAR (3)]
 JBRRPSENIN-SICHTID = JBRSI-SICHTID 0..N

1

JBRSPH

MANDT [CLNT (3)]

SICHTID [CHAR (3)]

HIERARCHID [CHAR (3)]

 JBRRPSENIN-HIERARCHID = JBRSPH-HIERARCHID 
0..N

1

T000

MANDT [CLNT (3)]

 JBRRPSENIN-MANDT = T000-MANDT 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 JBRRPSENIN-UNIT = T006-MSEHI 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 JBRRPSENIN-FWAERX = TCURC-WAERS 

0..N

1

 JBRRPSENIN-TWAERX = TCURC-WAERS 

0..N

1

 JBRRPSENIN-WAEHRUNG = TCURC-WAERS 

0..N

1

 JBRRPSENIN-WWAERX = TCURC-WAERS 

0..N

1

VTVSZKO

MANDT [CLNT (3)]

SZENARI [CHAR (10)]

 JBRRPSENIN-SZENARIO = VTVSZKO-SZENARI 

0..N

1


